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ABSTRACT

Chebyshev, The Russian mathematician. is considered as the
fumiture of the theory of the uniform approximation. He found The
polvnomial of the best uniform approximation for the functions x™ in both
the spaces C[—1,1] and €[0,1] By means of Chebyshev's polynomials.

In this paper we have found The element of the best uniform
approximation for this function on the intervals [-a, <] and [0,a] .Then
we have benefited from Chebyshev aliemmative on these intervalls and
from the inverse function to find the aliernative to the functions of the
form: F{x) = ¥a on the interval[0,&] if n is natural number ,and on the
interval [—a.a] if n is an odd natural number, Then we found the
polynomial of best uniform approximation of these functions on those
intervals

Key words :continapus function —polvnomial of best approximation

Chebyshev polynomials - Chebyshev  allernative-
Inverse function.
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